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English
Reverse a singly linked list.

BN 1->2->3->4->5->NULL
H: 5->4->3->2->1->NULL
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type ListNode struct {
next *ListNode
value interface{}

type LinkedList struct {
head *ListNode
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func (this *LinkedList) Reverse() {
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if nil == this.head || nil == this.head.next || nil == this.head.next.next {
return
}

var pre *ListNode = nil
cur := this.head.next
for cur = nil {

temp := cur.next

cur.next = pre

pre = cur

cur = temp

this.head.next = pre

}
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func (this *LinkedList) Print() {

cur := this.head.next

format :=""

for nil = cur {
format += fmt.Sprintf("%v", cur.value)
cur = cur.next
if nil = cur {

format += "<-"

}

}

fmt.Printin(format)

}
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var | *LinkedList
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func init() {
n5 := &ListNode{value: 5}
n4 := &ListNode{value: 4, next: n5}
n3 := &ListNode{value: 3, next: n4}
n2 := &ListNode{value: 2, next: n3}
n1 := &ListNode{value: 1, next: n2}
| = &LinkedList{head: &ListNode{next: n1}}
}

//go test -v -run TestLinkedList Reverse -o linkedListAlgo test.go
func TestLinkedList Reverse(t *testing.T) {

l.Print()

[.Reverse()

[.Print()

}
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=== RUN TestLinkedList Reverse
1<-2<-3<-4<-5

5<-4<-3<-2<-1

--- PASS: TestLinkedList Reverse (0.00s)
PASS
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o EEEIRIBNKSX(singlelinkedlist_test.go)
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